
U3(4).2 (mod 13)

blocks defect matrix

G : 1 1 8× 6
2 0 261 = χ3+, ϕ3+

3 0 262 = χ5+, ϕ5+

4 0 391 = χ7,0, ϕ7,0

5 0 392 = χ7,1, ϕ7,1

6 0 393 = χ8,0, ϕ8,0

7 0 394 = χ8,1, ϕ8,1

blocks defect matrix

8 0 1041 = χ9+, ϕ9+

9 0 1042 = χ11+, ϕ11+

10 0 651 = χ14,0, ϕ14,0

11 0 652 = χ14,1, ϕ14,1

12 0 1301 = χ15+, ϕ15+

13 0 1302 = χ17+, ϕ17+

Block 1: ϕ1,0 ϕ1,1 ϕ2,0 ϕ2,1 ϕ13,0 ϕ13,1

11 = χ1,0 1 . . . . .
12 = χ1,1 . 1 . . . .
121 = χ2,0 . . 1 . . .
122 = χ2,1 . . . 1 . .
641 = χ13,0 1 . . . 1 .
642 = χ13,1 . 1 . . . 1
1501 = χ19+ . . 1 1 1 1
1502 = χ21+ . . 1 1 1 1

ϕ1,0 = 11
ϕ1,1 = 12
ϕ2,0 = 121
ϕ2,1 = 122
ϕ13,0 = 631
ϕ13,1 = 632


